= e PARTIALLY ENCLOSED POLE STORAGE STRUCTURE
_ Tt _ Zone 1 +-10.47 az_nmw .a.awmﬂmﬁm | . _
: Zone 2 +/-20.96 . PH(352)331-1613 1-All construction shall comply with Florida Building Code 7th edition 2020
¥ o . 1OF 4
Zone 3 +- 41.63 ; 8690
_ — q ; ULTIMATE WIND SPEED: SEE TABLE THIS SHEET
: The plans and specfoatina rasantad heren e applcabionyfor tho ntcpated NOMINAL WIND SPEED: SEE TABLE THIS SHEET
m—» — o o H.m.a._u %ﬁﬁ%ﬁ.gg ot WIND EXPOSURE CATEGORY: SEE TABLE THIS SHEET
_ . \ Prfessiorl shoukd sﬁw?%ﬁﬁ.& rovlevfinal plans and spedlficationsosee | | RISK CATEGORY | o4
WIND PRESSURE ON COMPONENTS AND CLADDING \ R Tecmanibion s Reasms. Tha Dea P e o o e INTERNAL PRESSURE COEFFIGIENT Gopi= +/- 0.0
R s Lo Jrigeted 1 Sioxiame Wit yenly DESIGN PRESSURE PER FBC CHAPTER 16, INCLUDING ASCE 7-18 LOAD CALCULATIONS
- - ; T expressed. ROOF LIVE LOAD =12.6 PSF
ULTIMATE & NOMINAL AW il > somponut o - _ROOF DEAD LOAD =2,5 PSF
WIND SPEEDS i S Professkonalls Basic Sorvices under this MIN SOIL BEARING 2000 PSF
_ — : jon ar réview of the Contractor' performance or NAX TRUSS BEARING LOAD EACH END 5200LB
s, and that stioh services will bo provided by MAX TRUSS UPLIFT @ POST 3400LBS /
ULTIMATE NOMI ot s withe pstnd ke MAX B ¢
: _W“.rfﬂm_.%!ﬁﬁannn&iﬁo wr,. ; i \N\
2 ; 93 ay'yay conneoted thersto. 4 Wood framing and fasteners to meet NDS-2018 requirements. 3 ol "~
= - U i 2. Fastener requirements: (1) All nalls are Common galvanized; (2) all bolts are to be galvanized steel and Include Ny 1% M\..
h . »nuts'and washers; and (3) all other hardware (Simpson, etc.) Is to be Installed according to manufacturer's = Mo =
140 ; F ] = specifications and recommendations. Nalling (size and number) shall satisfy ._.mv_wm.mmam.Nm_.__.__.Muom.w.ﬁ: and - =
150 T | i _...mm.nm.m.@.ﬂmo unless otherwisa indicated. Note: fasteners exposed to the weather are to be freated for weather [ A -
55 20 0 : : +- feslstance and compatible with the type of pressure treated wood used (connectors, nalls, bolts, nuts and washers). |- L] .,.._._ulm.r..r 1L =
160 124 7 @ 1 | Gonerste Construction Notes - . ! U“.M v!Mmmc =
( _ @ = Gonorte work shell onform t “Bullding Cads Requtomantsfor Relforosd Conarat" (AC1-318) and \W\W\M,% LORW®: S ,,,,J
. _ . comman B by cations for Strui nerete" 1), t i Y
WIND EXPOSURE CATEGORY _ m ) om.m_mfs_x shall conform ta the a_*o&__a mvmwsnmzo:a. E_wﬂsﬂmﬁ mixes shall contaln a / //,/
\\mu _ c _ ) D 1. waltb gdycing admixture conforming to ASTM C-494. Alr-entraining admixture shall conform to ASTM C-260. - % 14
— ardh V : 424 ...\. m 6 %
_ \ﬁ% date Compra 3000PSI mm 5 N
BUILDING DIMENSIONS. i W SR
3 " " " =RUEICATIC IE EXIS i ) & . . _
WIDTH (FT) m__Xm_ _”Om._. 8"'X m. _””_Om._. e uh,ﬂ_ ﬂrﬂ:_wca.. an_u%auhuirm“cﬁg a.ﬂi rsagres bhat ﬁ A . AREE T rms for vertical surfaces are removed prior to the end of [~a - m m _
- g e nas_unnﬁi?qa?snm At .ﬁu&.._ kil z/n%_. 3 | shall oM AST s.wo_.__.ﬂws tinuous bars for tenslon lap splice ;
. 40 AN roying otherwlse 8] i8 of the , tie \eimgpciagigal shall og FRAD AgIV g 8l
o = R | B e ek O it ol o orms a1 "
mw_u . .wm..-.ﬂ " i \mkﬂl 7 for zﬁ.ﬁﬁﬂﬂﬂa loss L—s@ﬂ&ﬂ-ﬂ.ﬂ@g utof e Ew%mm&& senices ibioriy bk %ﬁ. 8 pack ey er for concrete relnforcing steel shall be S
34 _ _ 331" ! wM._. -8" Sitrbutable o the sola nogligence or wilhl misconduct of he Design Professional 5, ,.mmoaw_n wire fablc __M / onforTt % Lap sisets s and wire tle adjacent sheets
tan an ; ogether securely. Cu nts.
NM MM_|“ - Mm. w: 6. All slabs on grade shallHave ¢ flon_or control am_.%s to % less otherwise noted.
TR T : : 0 GRAUTOR S DIMENS] il 8
28 271 26"-8 _ RUDITURE BEEORE BEGINNING ZONSTRUC 2ll,5
26 25'-1" 24'-8" : . D S G m 2
24 231" = POST SPACING POST FOOTING SIZELD) /] f/\% g0
22 211" 208" D2 (FT) AN % flle 78
20 191" 18'-8" 8 0 i " " b &l &2
18 171" | 16'-8" @ ! 12 F1 18" DIA. X 48" DEEP ﬁmm_“z_,mmm ma__,,_rmuw_mmu_.mw M m
T A = . = BYUVICHAEL E DRISCOLL P.E. FL 43922 :
1 M 151" “__\__. qmn POST SIZE G, 24" DIA. X 48" DEEP AS ENGINEER GF REGORD (2 mm
4 : 134" o.g" ] ' m
12 111" . 10-8" g A . CONCRETE INFORMATION m 03
e e . . | P | = B e o 5 5 3 = 1IN L 0.
6"X 6" 10" X 10" ROOF PITCH T4 THICK 3000 PSI nozom.%m SLAB o) 28 -
—— . _ * | Wr6x8 1.4X 1.4 WWF OR FIBERMESH 3y
vom_ _._ B e T e s e e . : _«%& 412 | 512 6/12- | |1~ THICKENED EDGE
T HEIGHT METAL ROOF . — 12°WX 12' D W/ 2 6 BAR CONT
SIZE CIRCLEQ ORLESS (D-3) | OTHER \m.m M \m _ . 29 GA  ENCLOSED WALLS THESE SIGNED & SEALED SHEETS 12" W X 20° D W/ 2 #5 BAR CONT
=TT (2 AEIEIE o R e e 100N ,
q L 9555 R5 \ _ _ : Michael E Driscoll PE
- : : NO COPIES ARE ALLOWED iy xwm Ay

W, \c.-..-.c..-lov OA-NI
g latg of ﬁ
R T



RALASENNE

BUDDY REGISTER

A _
VAV 9
/' MAT m@\
1) \
£ ) g
ABIMS72/S . .
sollar 118 h,.ﬂ.ﬂﬁ.m i oy
Top Chor ASTM 572
_"_:E.. O_._oa ASTM 572 =
End Vertical __
|_Bearing angle | ASTM 572
M8 | _Inside vertical | ASTM 572 11720347 . ﬁ\\
M9 | Diagonal web | ASTM 572 L1-1/2"x 1-1/27x{3/ ‘a @
NOTES:. DIA. CARR

1-MATERIALS SHALL CONFORM TO STEEL ASTM 572.
2- ALL STEEL SHALL BE 50ksi IN ACCORD WITH CURRENT AISC MANUAL.
3- WELDING ELECTRODES TYPE E70XX
4- ALL WELDING SHALL BE IN.ACCORD WITH CURRENT AWS REQUIREMENTS.
5-ALL WELDING SHALL BE DONE BY A CERTIFIED WELDER, - '
6-BOLTS SHALL BE ASTM A325. w/ NUTS & WASHERS. (TYP)
7- WELD STRENGTH 70-KSI MIN, H o o3 S e :
8- ALL POST SHALL BE #2 DENSE PRESSURE TREATED GROUND CONTACT.
9- PRIMING & PAINTING SHALL BE DONE BY TRUSS MANUFACTURER.
* 10- MIN EDGE DISTANCE FQR BOLTS HOLES SHALL BE 3/4" MiN
11-MAX TRUSS SPACING SHALL NOT EXGEED 120" UNO. :
12-THE DESIGNER DISCL.AMS ANY RESPONSIBILITY FOR DAMAGES AS A RESULT OF
POOR WORKMANSHIP, OR IMPROPER USE, AND AGCEPTS NO RESPONSIBILTY OR
EXERCISES NO CONTROL WITH REGUARD TO FABRICATION, HANDLING,AND INSTALLATION
OF TRUSSES. .

BOLTS NUT & WA

PARCEL #09969-014 |

FL 32643

HIGH SPRINGS,

DB21-836 36x60x12

2
W

Wi il
gy

it J

"/;H]Af"? ~

—

)

iRy —— . TRUSS DETAILS
) _ NOT VALID UNLESS SIGNED & SEALED
) Q BY MICHAEL E DRISCOLL P.E. FL 43922
T _L< e’ I ) AS ENGINEER OF RECORD

’ ‘ 00D POST

o V)

TRUSS TO POST DETAIL
PLAN VIEW

N\ DRISCOLL ENGINEERING,INC.

A

CA 8580

PH (362) 331-1513

CONSULTING!ENGINEERS

PO BOX 357577 ;

GAINESVILLE, FL. 32606 FX. (352) 505-3368

THESE SIGNED & SEALED SHEETS
ARE FOR THE SITE SPECIFIC LOCATION AS
SHOWN ON THIS PLAN SET

PE
NO COPIES ARE ALLOWED Michael E Driscoll

FL Reg # 43922




\

)

40' MAX OUTSI
DIMENSION

A

120" MAX
TII 12' MAX SPACING——

Ses roof plich _ .
sheet 1 )

See metal
roof ga.
sheet 1

2- 1/2" dia. carrlage thru bolts I\
- nut& washer to match

See post helght A
table'D-3 sheet 1

-Vl

—x] B AN
B~ [/ — =

See huillding dimenslon

post 36" +/- below

e

. 1able QImins(ons D=1

See post footing
table sheet 1 ——

A

=1
A

NTS

2" 6" #2 syp
purlins @ 24" max spacing i

N

i

Ll

2-2°X 6" #2 8YP 45 ATTACH ._.Ow_om._. &
PURLIN W/ 6 -15450 SCREWS OR EQUAL

Drip edge attach
In accord w/ mfr spacifications
N 2" 6" #2 syp
\ purlins attach to angle
1 A=k 4 wi2#9-16 X 1-1/2" screws
“11-1/2" m joje
14 Ga uc_.__sl_ 4
connector #/ Truss detalls
(see sheet 3 ) —
0]

SEE METAL ROOFING
.TABLE SHEET 1

2'x 6"#2 8YP PURLINS
@ 24" MAX SPACING

GALV EVEDRIP —=.

2-1/2" DIA. CARRAGE BOLTS —}
NUT & WASHERS

—I._.m_._mw DETAILS
SEE SHEET 3

. Sesépostsize
table sheet 1 ——

! . .
9 :
4
" { s mam s
= E L
" soreAc SAGRETE I .
OR 24" 8Q X 4" THICI f
SEE POST FOOTING
CONGRETE PAD /I SIZE TABLE SHEET 1

GTO ET

Michael E Driscoll PE
FL Reg # 43922

N

7 L = WX
Ty

BUDDY REGISTER
" PARCEL # 09969-014

HIGH SPRINGS, FL 3264

DB21-836. 36x60x1

SxDRISCOLL ENGINEERING,INC.

TS




~

2°X 4" #2 8YP 3-1/2" VERTICAL:
ATTACH ENDS TO EACH POST
W/ 2-#10 X 3-1/2" SCREWS (TYP)

2°X 6” #2 SYP HORIZONAL @ 48" ATTACH TO -

METAL SIDIING SEE

L UILDING SCHEDULE

POST W/ 4-#10 X 4" TOE SCREWS:
ATTACH 2'X 4" TO 2°X 6" W/ SIMPSON
W/#10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING @ DOOR HEADER

2"X 6" #2 SYP _._Dm_NOz.E.. @ 48" ATTACHTO
POST W/ 4- #10 X 4" TOE SCREWS,
ATTACH 2'X 4" TO 2'X 6" W/ SIMPSON
W/ #10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING IW.

48"

2'X 6" #2 8YP HORIZONALS ARE REQUIRED FOR SPANS
THAT EXCEED 80"

2'X.4" #2 SYP 3-1/2" VERTICAL
ATTACH ENDS TO EACH POST
W/ 2-#10 X 3-1/2" SCREWS (TYP)

2" 6" #2 SYP HORIZONAL @ 48" ATTACH TO

T qu il ”w_, k-

||||||

* USE COATED SCREWS FOR EXTERIQRAMShinG see

—lm_.___.DHZO SCHEDULE

T |

POST W/ 4- #10 X 4" TOE SCREWS:
ATTACH 2°X 4" TO 2°X 6" W/ S8IMPSON
W/ #10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING @ DOOR HEADER

2"X 6" #2 SYP HORIZONAL @ 48" ATTACH TO
POST W/ 4= #10 X 4" TOE SCREWS,
ATTACH 2°X 4" TO 2°X 6" W/ SIMPSON
Wi #10 X 3-1/2" SCREWS @ EACH mzu
AND 16" MAX SPACING

THAT EXCEED 8'-0"

2"X 6" #2 SYP HORIZONALS ARE REQUIRED FOR SPANS

CLEARANCE TO SOIL

TYPICAL WINDOW OPENING DETAIL

* USE COATED SCREWS FOR EXTERIOR USE

18" DIA. X 42"

ATTACH 2°X 4" TO 2°X 6" W/ SIMPSON
#10 X 3-1/2" SCREWS @ EACH END
. 16" MAX SPACING
8 @u

- GARAGE DOOR HEADER 2-2

2°X 4" #2 8YP 3-1/2" VERTICAL
ATTACH ENDS TO EACH POST
W/ 2-#10 X 3-1/2" SCREWS (TYP)

GARAGE DOOR HEADER 2-2°X 6" #2 SYP FLAT
ATTACH TO POST W/ 4- #10 X 4° TOE SCREWS,

1-2°X 8" #2 BYP VERTICAL ATTACH TO POST W/ 6 #10 X 3-1/2°

SCREWS ATTACH FLAT & VERTICAL TOGETHER
W/ #10 X 3-1/2" SCREWS @ EACH END
AND 18" MAX SPACING @ DOOR HEADER

2"X 6" #2 8YP HORIZONAL @ 48° ATTACH TO
POST W/ 4- #10 X 4" TOE SCREWS, ’
ATTACH 2°X 4" TO 2°X 6" W/ SIMPSON
W/ #10 X 3-1/2" SCREWS @ EACH END
AND 16° MAX SPACING

2°X 4" #2 SYP 3-1/2" VERTICAL
ATTACH ENDS TO EACH POST
Wr2-#10 X 3-1/2" SCREWS (TYP)

2°X 6" #2 SYP mom_uoz»_. @ 48" >ﬂ.>ox TO
POST W/ 4-#10 X 4" TOE SCREWS.

ATTAGH TO POST W/ 4-#10 X :
1-2'X 6" #2 SYP VERTI F.LbL
SCREWS ATTACH FLAT & VERTICAL TOG
W/ #10 X 3-1/2" SCREWS @ EACH END

AND 16" MAX SPACING @ DOOR HEADER

2°X 6" #2 SYP HORIZONAL @ 48" ATTACH TO
POST W/ 4-#10 X 4" TOE SCREWS.
ATTACH 2'X 4" TO 2°X 6* W/ SIMPSON
W/#10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING ,

2°X 4 #2 8YP 3-1/2" VERTICAL
ATTACH ENDS TO EACH POST

W/ 2-#10 X 3-1/2" SCREWS (TYP) -

2°X 8" #2 S8YP HORIZONAL @ 48" ATTACH TO
POST W/ 4-#10 X 4" TOE SCREWS, _
ATTACH 2"X 4* TO 2'X 6" Wy 8IMPSON
W/ #10 X 3-1/2° SGREWS @ EACH END
AND 16" MAX SPACING

2°X 6" #2 8YP HORIZONALS ARE REQUIRED FOR SPANS

THAT EXCEED 8'-0"

6°X 6" PT DOOR OR WINDOW POST TO HEADER
CONCRETE FOOTING

OR SIMPSON ABUG6 TO CONCRETE SLAB

THESE SIGNED & SEALED SHEETS

ARE FOR THE SITE SPECIFIC LOCATION AS
SHOWN ON THIS PLAN SET

NO COPIES ARE ALLOWED

!

OPENING

METAL SIDIING SEE
UILDING SCHEDULE

84
3

v/

\——— POST SIZE & FOOTING MATCH

METAL SIDIING SEE
BUILDING SCHEDULE

G DOOR GRERING Dt

* USE COATED SCREWS FOR EXTERIOR USE

|
160" MAX HEIGHT

1" MIN

DOOR DESIGN & SUPPORT
CONNECTION TO POST ONLY
BY DOOR MFR

ENCLOSED

WALL DETAILS

i 40F4

s
X

CLEARANCE TO SOIL .

19
& iy,

TRUSS BEARING POSTS

1*MIN - -
CLEARANCE TO SOIL

POST §IZE & FOOTING MATCHES

TRUSS BEARING POSTS ~ °
DOOR DESIGN & SUPPORT
CONNECTION TO POST ONLY
BY DOOR MFR

DOOR & WINDOW LOCATION
BY OWNER/BUILDER

BUDDY REGISTER

HIGH SPRINGS, FL 32648 |

PARCEL . # 09969-014

\_____,_..,-—‘-"u ,,,‘_““‘ £ lfh“\\\\f\

/

A\ DRISCOLL ENGINEERING,INC.

CA 8880

/ CONSULTING ENGINEERS

PH (352) 331-1513

Micheael E Driscoll PE
FL Reg # 43922

\




